

TIP NO

13.790 MI

FED AID NO STATE FUNDED  
 RESURFACING, MILLING, SHOULDER RECONST, PAVEMENT MARKINGS  
 1 SECTION OF NC 3 AND 21 SECTIONS OF SECONDARY ROADS

				BLYTHE BROTHERS ASPHALT CO LLC	FEREBEE CORPORATION	SLOAN CONSTRUCTION A DIVISION OF REEVES CONSTRUCTION CO	
				CHARLOTTE, NC	CHARLOTTE, NC	DUNCAN, SC	
<b>ROADWAY ITEMS</b>							
0001	0000100000-N	800	MOBILIZATION	Lump Sum	37500.00	65000.00	73000.00
0002	0106000000-E	230	BORROW EXCAVATION	1,292 CY	17.00 21964.00	30.00 38760.00	47.00 60724.00
0003	1220000000-E	545	INCIDENTAL STONE BASE	390 TON	40.00 15600.00	40.00 15600.00	1.00 390.00
0004	1245000000-E	SP	SHOULDER RECONSTRUCTION	23 SMI	2850.00 65550.00	3250.00 74750.00	2300.00 52900.00
0005	1297000000-E	607	MILL ASP PVMT ***** DTH (1.25" DEPTH)	27,031 SY	0.80 21624.80	1.50 40546.50	1.30 35140.30
0006	1297000000-E	607	MILL ASP PVMT ***** DTH (1.5" DEPTH)	63,140 SY	0.95 59983.00	1.25 78925.00	1.00 63140.00
0007	1297000000-E	607	MILL ASP PVMT ***** DTH (2" DEPTH)	4,618 SY	1.40 6465.20	2.70 12468.60	1.30 6003.40
0008	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 1.5")	1,260 SY	6.00 7560.00	3.95 4977.00	5.00 6300.00
0009	1330000000-E	607	INCIDENTAL MILLING	3,303 SY	2.60 8587.80	5.00 16515.00	7.00 23121.00
0010	1519000000-E	610	ASP CONC SURF CRS S9.5B	4,635 TON	56.00 259560.00	48.95 226883.25	53.35 247277.25
0011	1520000000-E	SP	ASP CONC SURF CRS S9.5B LEVEL	347 TON	65.00 22555.00	52.90 18356.30	56.00 19432.00
0012	1523000000-E	610	ASP CONC SURF CRS S9.5C	15,500 TON	52.00 806000.00	46.95 727725.00	42.15 653325.00
0013	1524000000-E	SP	ASP CONC SURF CRS S9.5C LEVEL	1,345 TON	61.00 82045.00	52.33 70383.85	62.00 83390.00
0014	1575000000-E	620	ASP FOR PLANT MIX	1,350 TON	430.00 580500.00	430.00 580500.00	403.00 544050.00
0015	1704000000-E	SP	PATCHING EXIST PAVEMENT	5,212 TON	86.00 448232.00	95.00 495140.00	109.00 568108.00
0016	1775500000-E	660	AST, MAT COAT, #*** STONE (#78M STONE)	62,437 SY	0.80 49949.60	0.40 24974.80	0.80 49949.60
0017	1838000000-E	660	EMULSION FOR AST	15,610 GAL	1.80 28098.00	1.82 28410.20	2.10 32781.00
0018	1838500000-N	660	VACUUM TRUCK	3 WK	1500.00 4500.00	2500.00 7500.00	1500.00 4500.00
0019	1840000000-E	665	MILLED RUMBLE STRIPS	40,818 LF	0.17 6939.06	0.39 15919.02	0.44 17959.92
0020	2612000000-E	848	6" CONCRETE DRIVEWAY	796 SY	130.00 103480.00	131.25 104475.00	125.00 99500.00
0021	2830000000-N	858	ADJ MANHOLES	47 EA	660.00 31020.00	682.50 32077.50	650.00 30550.00
0022	2845000000-N	858	ADJ METER OR VALVE BOXES	5 EA	630.00 3150.00	656.26 3281.30	625.00 3125.00
0023	4413000000-E	SP	WORK ZONE ADV/GEN WARN SIGN	797 SF	7.00 5579.00	10.00 7970.00	5.20 4144.40
0024	4457000000-N	SP	TEMP TRAFFIC CONTROL (SP)	Lump Sum	78000.00	68000.00	150000.00
0025	4510000000-N	1190	LAW ENFORCEMENT	200 HR	50.00 10000.00	48.50 9700.00	60.00 12000.00
0026	4685000000-E	1205	THERMO PVT MKG LINES 4"90	200,100 LF	0.39 78039.00	0.44 88044.00	0.42 84042.00
0027	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	605 LF	1.70 1028.50	1.84 1113.20	1.75 1058.75
0028	4700000000-E	1205	12"WIDE THERMO 90 MILS	240 LF	6.00 1440.00	5.25 1260.00	5.00 1200.00
0029	4720000000-E	1205	THERMO PVT MKG CHARACTER 90	8 EA	75.00 600.00	105.00 840.00	100.00 800.00
0030	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	41 EA	75.00 3075.00	115.50 4735.50	110.00 4510.00
0031	4810000000-E	1205	PAINT PVMT MARKINGS 4"	26,760 LF	0.10 2676.00	0.32 8563.20	0.30 8028.00
0032	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (24", 90 MILS)	640 LF	8.50 5440.00	6.85 4384.00	6.50 4160.00
0033	4895000000-N	SP	GENERIC PAVEMENT MARKING ITEM (EA) NON-CAST IRON SNOWPLOWABLE PAVEMENT MARKERS	231 EA	30.00 6930.00	63.00 14553.00	60.00 13860.00
0034	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum	6000.00	4000.00	13000.00

TIP NO  
 FED AID NO STATE FUNDED  
 RESURFACING, MILLING, SHOULDER RECONST, PAVEMENT MARKINGS  
 1 SECTION OF NC 3 AND 21 SECTIONS OF SECONDARY ROADS

13.790 MI

				BLYTHE BROTHERS ASPHALT CO LLC CHARLOTTE, NC		FEREBEE CORPORATION CHARLOTTE, NC		SLOAN CONSTRUCTION A DIVISION OF REEVES CONSTRUCTION CO DUNCAN, SC				
0035	6071010000-E	SP	WATTLE	1,132	LF	4.00	4528.00	7.50	8490.00	5.00	5660.00	
0036	6071020000-E	SP	POLYACRYLAMIDE (PAM)	6	LB	50.00	300.00	150.00	900.00	50.00	300.00	
CONTRACT TOTAL				TOTAL		2874498.96	TOTAL		2905721.22	TOTAL		2977429.62
ROADWAY ITEMS				SUB-TOTAL		2874498.96	SUB-TOTAL		2905721.22	SUB-TOTAL		2977429.62

TIP NO

13.790 MI

FED AID NO STATE FUNDED  
 RESURFACING, MILLING, SHOULDER RECONST, PAVEMENT MARKINGS  
 1 SECTION OF NC 3 AND 21 SECTIONS OF SECONDARY ROADS

				BLYTHE CONSTRUCTION INC	BOGGS CONTRACTING INC		J T RUSSELL & SONS INC		
				CHARLOTTE, NC	MONROE, NC		ALBEMARLE, NC		
<b>ROADWAY ITEMS</b>									
0001	0000100000-N	800	MOBILIZATION	Lump Sum		90000.00	153100.00		165000.00
0002	0106000000-E	230	BORROW EXCAVATION	1,292 CY	45.00	58140.00	20.00	25840.00	51680.00
0003	1220000000-E	545	INCIDENTAL STONE BASE	390 TON	1.00	390.00	65.00	25350.00	390.00
0004	1245000000-E	SP	SHOULDER RECONSTRUCTION	23 SMI	2200.00	50600.00	2500.00	57500.00	57500.00
0005	1297000000-E	607	MILL ASP PVMT ***** DTH (1.25" DEPTH)	27,031 SY	1.40	37843.40	1.75	47304.25	54062.00
0006	1297000000-E	607	MILL ASP PVMT ***** DTH (1.5" DEPTH)	63,140 SY	1.60	101024.00	2.25	142065.00	126280.00
0007	1297000000-E	607	MILL ASP PVMT ***** DTH (2" DEPTH)	4,618 SY	2.40	11083.20	2.25	10390.50	10390.50
0008	1308000000-E	607	MILLN ASPHALT PVMT ***** - ***** (0" TO 1.5")	1,260 SY	5.05	6363.00	4.75	5985.00	5985.00
0009	1330000000-E	607	INCIDENTAL MILLING	3,303 SY	9.00	29727.00	7.00	23121.00	23121.00
0010	1519000000-E	610	ASP CONC SURF CRS S9.5B	4,635 TON	50.00	231750.00	47.00	217845.00	241020.00
0011	1520000000-E	SP	ASP CONC SURF CRS S9.5B LEVEL	347 TON	55.00	19085.00	53.00	18391.00	20820.00
0012	1523000000-E	610	ASP CONC SURF CRS S9.5C	15,500 TON	48.00	744000.00	48.00	744000.00	775000.00
0013	1524000000-E	SP	ASP CONC SURF CRS S9.5C LEVEL	1,345 TON	51.00	68595.00	47.00	63215.00	82045.00
0014	1575000000-E	620	ASP FOR PLANT MIX	1,350 TON	436.00	588600.00	450.00	607500.00	641250.00
0015	1704000000-E	SP	PATCHING EXIST PAVEMENT	5,212 TON	105.00	547260.00	85.00	443020.00	604852.60
0016	1775500000-E	660	AST, MAT COAT, #*** STONE (#78M STONE)	62,437 SY	1.00	62437.00	0.60	37462.20	71802.55
0017	1838000000-E	660	EMULSION FOR AST	15,610 GAL	1.70	26537.00	3.00	46830.00	31220.00
0018	1838500000-N	660	VACUUM TRUCK	3 WK	2500.00	7500.00	1500.00	4500.00	4500.00
0019	1840000000-E	665	MILLED RUMBLE STRIPS	40,818 LF	0.40	16327.20	0.29	11837.22	8163.60
0020	2612000000-E	848	6" CONCRETE DRIVEWAY	796 SY	125.00	99500.00	80.00	63680.00	79600.00
0021	2830000000-N	858	ADJ MANHOLES	47 EA	650.00	30550.00	300.00	14100.00	42300.00
0022	2845000000-N	858	ADJ METER OR VALVE BOXES	5 EA	625.00	3125.00	235.00	1175.00	4500.00
0023	4413000000-E	SP	WORK ZONE ADV/GEN WARN SIGN	797 SF	5.75	4582.75	5.32	4240.04	5579.00
0024	4457000000-N	SP	TEMP TRAFFIC CONTROL (SP)	Lump Sum		70000.00		47250.00	91000.00
0025	4510000000-N	1190	LAW ENFORCEMENT	200 HR	55.00	11000.00	62.00	12400.00	10000.00
0026	4685000000-E	1205	THERMO PVT MKG LINES 4"90	200,100 LF	0.42	84042.00	0.85	170085.00	90045.00
0027	4695000000-E	1205	THERMO PVT MKG LINES 8"90 MILS	605 LF	1.75	1058.75	3.00	1815.00	1149.50
0028	4700000000-E	1205	12"WIDE THERMO 90 MILS	240 LF	5.00	1200.00	5.00	1200.00	1620.00
0029	4720000000-E	1205	THERMO PVT MKG CHARACTER 90	8 EA	100.00	800.00	150.00	1200.00	680.00
0030	4725000000-E	1205	THERMO PVT SYMBOL 90MILS	41 EA	110.00	4510.00	100.00	4100.00	3485.00
0031	4810000000-E	1205	PAINT PVMT MARKINGS 4"	26,760 LF	0.30	8028.00	0.35	9366.00	2943.60
0032	4891000000-E	1205	GENERIC PVMT MARKING ITEM (LF) 1205 THERMOPLASTIC PAVEMENT MARKING LINES (24", 90 MILS)	640 LF	6.50	4160.00	8.00	5120.00	5760.00
0033	4895000000-N	SP	GENERIC PAVEMENT MARKING ITEM (EA) NON-CAST IRON SNOWPLOWABLE PAVEMENT MARKERS	231 EA	56.00	12936.00	120.00	27720.00	7392.00
0034	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum		5000.00	3300.00		10000.00

TIP NO 13.790 MI  
 FED AID NO STATE FUNDED  
 RESURFACING, MILLING, SHOULDER RECONST, PAVEMENT MARKINGS  
 1 SECTION OF NC 3 AND 21 SECTIONS OF SECONDARY ROADS

				BLYTHE CONSTRUCTION INC		BOGGS CONTRACTING INC		J T RUSSELL & SONS INC				
				CHARLOTTE, NC		MONROE, NC		ALBEMARLE, NC				
0035	6071010000-E	SP	WATTLE	1,132	LF	8.00	9056.00	9.50	10754.00	8.00	9056.00	
0036	6071020000-E	SP	POLYACRYLAMIDE (PAM)	6	LB	50.00	300.00	20.00	120.00	17.00	102.00	
CONTRACT TOTAL				TOTAL		3047110.30	TOTAL		3062881.21	TOTAL		3340294.35
ROADWAY ITEMS				SUB-TOTAL		3047110.30	SUB-TOTAL		3062881.21	SUB-TOTAL		3340294.35
<b>BIDDERS IN ORDER</b>				<b>CONTRACT TOTAL</b>								
BLYTHE BROTHERS ASPHALT CO LLC				1		2874498.96						
FEREBEE CORPORATION				2		2905721.22						
SLOAN CONSTRUCTION A DIVISION OF REEVES CONSTRUCTION CO				3		2977429.62						
BLYTHE CONSTRUCTION INC				4		3047110.30						
BOGGS CONTRACTING INC				5		3062881.21						
J T RUSSELL & SONS INC				6		3340294.35						